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BSC - Pt. Il Examination
Plant Physiology and Biochemistry
q1ey ST UF Sig A
Paper - BO-07
Time : 3 Hours ] [ Max. Marks :- 35

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 ud
Gus & MGATTAR AT & IR QIS

Section - A 7X1=17

(Very Short Answer Questions)
Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 1 mark.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI T 3707 IR Bl TRATAR Tb 91eg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
1 3p & 2l
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1) (i) Whatis hypertonic solution?
TR faera &= g1ar 82

(i)  Which instrument is used to measure rate of transpiration?

DITAT IJUSPRUT IS Dl &R A0 o ford wgard o

ST 82
(iii) What is hydroponics?
RESRIRERSEE LIRS
(iv) What do you mean by Respiratory Quotient?
93T U | 31T AT AT & ?
(v) What is leghaemoglobin?
SRR T gl § 2
(vi) Which harmone is known as rooting harmone?
DT g A1 g Hgar g ?
(vii) Define seed viability.
1 fit e emar @ gk Bl
Section - B 4x35=14

(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 3.5 marks.

(Tvs - 9)
(oTg TR UeA)
fAder: gl IR Ul & IR VI 3T 3o ITR Bl frepay
200 vregi B gRAfAT HifvTel U ueT 3.5 3l & gl
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2) Differentiated between diffusion and osmosis.
foRTRoT Td IR0 § favg i)
3) Discuss significance of transpiration.
qrSOIAST & Heged b fade T HifTu|
4) Explain girdling experiment.
eI YA Dl AR
5) Write a note on photolysis of water.
STeT & I 3Eed WR U feroft forRau)
6) What is photorespiration?
gepTefia eI+ T g g 2
7) Discuss role of Cytokinin.
ATSCIDTS A I f¥epT Dl fveraf BTyl
8) Mention functions of Mg and its deficiency symptoms in plants.
arel § Mg & HRf doT SAdhT HHY & AT STSu|
9) Write a note on Seismonasty.
DD IT W T fewuft foTRay|
Section-C 2X7=14
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
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answer maximum up to 500 words. Each question carries

7 marks.
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(Tvs - ¥)
(e TR ¥ed)
fAder : forgl S U9l & IR <INATI 31T 31U IR B 3ferpad 500
et o ufAifia HIfTe) Tde w9 7 3l @ &

10) Explain various theories of Ascent of Sap.

IR & AR Rigial &t @ fHifvrgl

11) Describe structure & functions of different types of RNA
molecule.
I JPR & AR.TA.Y. A Pl FREHT GG I BrAl b Jui
B

12) Discuss mechanism of enzyme activity in detail.

TeoTTSH AT & fhanfafer &1 faaR & aufe hifrg)

13) Write an essay on Vernalization.

FAAIDRUT TR Th g fARgu|
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